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Note: Write answers to the questions on objective answer sheet provided. Four possible answers ABC & D to

each question are given.Which answer you consider correct, fill the corresponding circle A,B,C or D given in

front of each question with Marker or pen ink on the answer sheet provided.

1.1. A software that faciliates programmers in writing computer programmes L';:ug)’!ﬂ(')%);:{&%{ﬁ ﬁ;_')l/uﬁ AR
is known as 5 bl &
(A)  Compiler /Cl;r (B) An editor 24! © An IDE g1 5(3’7/’\ (D) A Debugger £
2. Forinitializing a varible, we use operator. 4_/;2../?3@%,‘:4/_(7&;’/ LS 2
,'/X
(A) ssp ® - = © @  B— 7
: (S Y
3. Which operator has the highest precedence among the following?/\\ \ \?;o: p;.gé)@‘:}%{@._u:ut 3
N LY B Mm\\\ !
(A) = B) a) s, _ - - D) ﬁ
( I ( \ v I
4. What will be the value of ' i " after the given statement : ﬂrzatf‘if 5.0/2.04 3JK§¢CU@'J ' l‘ﬁjfl%%ﬁ 4
! " //\ "
(A) % B) 25 gl N\ 57N (@ 2
7 N PAN E
5. An if statement inside another if stefement is called \ _ structure. ‘3 g __/,%Jn% Ll e i) 5

/\ ‘\}
(A) Nested %2 (B) m %"N\ (C}\ \/aep/eated\%:«/’ (D) Decomposed ;‘));rd ki
s \ \, s .

A 7 -
5. What il b the gty o the foloing code? / \ el st its 6
7 \\ e %\ :
7 \\ "IN\
/" \ intfg"A")
2N e
' 7 lse
N\, \\ 4
‘\\ N printf("O");
A) 0 B) \”f” 1 © 0" o g
. v ,

7. structure allows repetition of g'setof instructions. ‘§.thng z__lﬁupgfayﬁéc,y{%j,}'__ 7

(A) Loop .?o’ (8) Conditional L;}” ©) * Control J3& ' D) Data &3
8. An array index starts with: e bn&;/"';fgfvllfé_ﬂ 8

@) -4 (B) 1 © 0 ) 2
9. Ifthere are three return statements in the function body, _____ of them wil S ‘fvﬁ /‘../uf" S SQubé/;‘ 9

be executed. ,f u;]-? e

A) 1 (B) 2 © 3 )] 4
10. char cd () {return 'a}, In this function "char"is ____. -E "char" ‘f’c Lﬂchar cd () {return ‘a’} .10

K (A) Body (§ 5t (B) Retumtype Fbozs (C) Array &1 {D) Arguments J“’}’jT

49-10-A

£

e




[Roll No. < ToFiarl|  SSC.(Partl)-A-2024

. o . . o/ J"y{
Computer Science (subjeciive) ~ (For All Sessions) ZenJ s
Marks: 40 . (Group-|-.1sf X QWV e ~2 Time: 1:45
Section-| JiLo
2. Write short answers of any four parts of the following:  (4x2=8) B fe Yz L2 D,bc,d:(a.uﬁJ_ s 2
i. Define compiler. _q/_.g//’J)'L;f i
ii. Why do we need a programming environment? - T Se dsrusd- M,ﬁJ_»/'f‘;u‘uét&v_ﬁu:" i
iii. Write any four names of IDE. : ) -g;{/,"»tailoagc.é/ i
iv. Identify erros in the following code: printf ( “Hello ) /// VSt st i
printf { world") ; rd 3
/ 2 i )
v. What is the use of modulus operator? ( yd ?c‘,JWILf (1% lu";SL A
vi. What is the difference between == operator and = operator? \ ¢ g /,m?;."’(j?tz@;f e Usl== oy T i

h
3. Write short answers of any four parts of the following: (4xg—‘8)\ &y fé@!ﬁ/‘s‘é,tmj!"c ui'J_;'Zw: 3

! . i L I AN e
LN \ mw,/.

i, Define control statement. { N
ii. Why we need selection statement? ! e \\ L ?ﬁ;(}fu?u[ =/ w9 J“g/ K
0
iii. What is sequencial control? \ \\ /\ _.J;/‘JU’ < il
. Whatis the output of following code? _~—{ \ S Ll ses
/ \ inta=7,b310; > 9
{i//\ a=ath; \‘/ %" \\,
)‘h\w -a; Py
: / \@ !
g\{ w printf P%{i“h‘\ ab); N ,
v. What is data slruc;(’f)ﬁ\ (i,w«m-%.\ \\ ?g“.,)’/'\!.f::’ﬁ: 2SN
S\ , % 7 :

vi. Declare an array that cai itore any ten (10) values. N LA (10U d&q//;;{_mg Vi
4. Write sho Uanswgrs of ;hxfour parts of the following: 5) =8) -2?(_//’.:4leﬁyéplibgc,éfcgﬁi}@» A
i. Write the output of t}e\fonowing\ode: Aottt 156 i <=s; i++4) (L2 fre STt

. \\ qm "KARACHI\n");
ii. Find the errors in the followiRg code: or (inti==1 ; i<6; i --) g SIS 3 i
X\ L ”///A printf ( "%d" , i) _
iil. What is function defining? \ / ?c‘_;ygf.;.,é-’ugsg‘ﬁ i

] 7 - [
iv. What is argument in function? f/ ‘.‘c‘_:l/t[;w /lui'uﬁ v

v. What is meant by return type of function? ?‘a;l/gc,_jt‘uj:w(fﬁ v
vi. What is divide and conquer rule? Yc‘:.gdﬂlﬁ/( E‘iul;/(;:”r i
Section-ll (932

Note: Write answers of any two questions from the following:  (8x2=16) ch_g;f:p Wzl Utrne e S5t
5 Define constant and explain different types of constant. (2+6=8) - /ug(u"f...&ffJu‘ wu”/_,y /U w5
6. Describe printf() and scanf() uses in C-Language. (8) -J/f (‘f o,c_uﬂt‘/fw?.;.dv»wg ¥ Scanf()»lprintf() = é;QC 8
7. Write a program in C-language that displays the table of 7. (8 -4_./&4 u“ KTﬁu:.‘i(!)Qv.ﬁuﬁ é:QC s
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Note: Write answers to the questions on objective answer sheet provided. Four possible answers ABC & D to
each question are given.Which answer you consider correct, fill the corresponding circle A,B,C or D given in
front of each question with Marker or pen ink on the answer sheet provided.

11. Anarrayisa ____structure. . -3 Ay L A4
(A) Loop .{:’ (8)  Control .J;/"’/ ) Data 3 (D)  Conditional L:f"
2. What s the index number of last element of an array with 7 elements? i M\g@r(djdﬂégﬂ.f_ 61T .2
X ra Y
® 7 (8) 5 © /6 \(D) 3
[~ b . P
3. A function cannot return more than ___ values. [/ -C%(Wuya_a L 3
i | N
i / \
(A) 1 (B) 2 P 3 /D) N 4
Ve . LT

TN \ "
4. means to transfer the control to another function/z/ {\ N \‘\ -g.tf/)iiwfﬁ\ei -u‘:cl/c, A4

P H \\\x \‘)
(A)  Defining &3 (B) Rewritng j{uw\ © “ncluding 531 (D) /)Qfalling ¥
| AN \,} \ A" /

o ‘ _ \ A wsre o s
5. The extension o header fleis: ™.\ S~ €3 {\ . LRSSk 8
\ N AN -
(A) C [ B) .CF\E’ ~~—er” E M o Mt
i 7 k\x 3 1 X . " ) =
6. __ arethe values that do no\cihange during'{he whole extension. 1’} / -ufnu:ﬂiz.ngﬁfl/;/jw'%_ 6
A, \ \ '

SN ", Yo s AX / // z ¥
(A) \/zériabTe\ ) (8)  Constants uv Kfi N3] /{,«»Strings ?/} (D)  Comments ﬁ/
& | i / \\. £

N g ;
7. Which of the followingls vald fne of code? 3 ;,/ P ‘-‘q—gdwufd’sfcwu' 7
I h R o
(A) ir?t‘-: 30; \\ (8) fine = {his is a/liae/; © float = 4.3; (D)  Char grade ="A';
N, ™, t
X R § ’/ 3d)
8. Scanf()is an exampleof __ function. e :+J¢'ugJu'G Scanf() .8
A NS s s
@A) inputedt N\ (g/)“/“’0utputg4¢sf ) Logical ¥~ ©)  Math b
\’ i = =5 7 (s .
9. Whatwill be the output of folowing code? intm=0,n=9; ol 5T stn 9
& if (m%n>1) .
printf("Success");
else

printf("Looser") ;

(A) Success (B) Looser (€) "Success” D) "Looser"
10. A set of multiple instructions enclosed in braces is calleda __. :9t‘ﬂvf ___'.{(agl{ugic_ug,&.uﬁ 5 A0
(A) Box L (8) List 2 ©) Block S ) Job o ?
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2. Write short answers of any four parts of the following:  {4x2=3) -eﬁ.&i_«,gmﬁ"’&nzuga GfaufJ. s 2
i. Differentiate between constant and variable. _q/uw}u: @K S s
ii. Why do we use comments in programmin;? wgz_z’dmu{ . ufu@lfgﬂ Ji
jii. What do you mean by variable initiafization? ?‘Lﬂ/g&.g‘i'f WS 1Sy i
iv. What are format specifiers? ?@LMWUJ"/M/G Jdv
v. What s use of \n? TN e JE¥n v
vi. Find error(s) in following code: : printf("Name/t’ A“):// fdu« UJu/lu‘ :;U’ BIOPTIR
3. Write short answers of any four parts of the following:  (4x2=8) (.{ }{»u c.&f;.ui'J")Zw 3
i. List different types of control statements in C Language. - // ,(ch. RN WL B fl £
i, identify errors in the following code: / 'f’im\\\ ‘>// S “ul»u‘ st i

iii. Write down the output of following cdde: ’

J/(f%;LJ‘J)fJ 3l i

. ' i
/ £ !
{ A ,1’
f SR i& ,l , . .
iv. Draw the flow chart of if statement,” N ‘ T T g B
v. Why we use datagtructure? \ A % jﬂ\ 'y = mz_/dv"wlu{/}m Ty
/ 3 /s 4
vi. What is an Array? % } 1 ) : & felfem sl i
4. Write shpﬁ,apswers\okany four parts of the f Ilf)wtﬁg (4x228 -é;/"..-,yl,zf’?é,tzuga,éié_wgz,;au 4
% \ . .
i, Write doih three parts of Io\bp d LI OPEL L
1
ii. Write general struct:x?e\of nestedloop f/// - fjlml( (Nested loop)ws/ 2 il
jii. Discuss separation of task&m functum 5 -J/J /z__/-.ﬁ lfuf‘l{u" Jﬁ’ Jii
iv, Write limitation of function S|g ture. / i 2 fS ke (signature) K u'g v
v. What is the function-call? Write general structure. - fihv:&’gﬂ"gb(dw'é v
vi. Write function signature that fgkes radius of a circle as input and .)wlL./uu b/K(,/biu‘/; / ):u_\.ﬁ.u ..f f i
returns the area of circle. el
Section-lI : (322
Note: Write answers of any two questions from the following:  (8x2=16) -i//:—zuié u;'ln::_.éfc_gﬂg)ibu:..bi
5. Define constant. Explain its types. 8) gl La:erJMK.«JfJ Fle¥ 5
6. Describe the purpose and formation of escape sequence. JWPJM@&I u/ug..,,(,mww*ﬁ.,ﬁ 6
Explain any two escape sequences. (2+2+2+2=8) _u’/‘;?lm
7. Write a program using FOR Loop to print word "PUNJAB* 10 §/eig.2105 PUNJABEIZ w2 S _JFOR .7
times. (8) Ny /’rn}f/

J% 52-10-A



